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1. /k D %I »n
Circle the following numbers if they fit into that category.
4535 L ﬂ‘bﬁ‘,j 5 75T ’d“«\j‘,’) [ ) ?‘,5 i) ?‘,5 'I:.:T,:Y
% HARE | ADHK| % PR A | dE ES
5 O
—2 O
0.4 O
2
— O
5
. O
V25 O
-2 O
7 O
L& Fu Hﬁ
2. /j’( D J‘ & n+ =R H J: Calculate the following formula.
» g5 FhES LxdiEd LyiE)
hni TR Fk 1A 275
Addition Subtraction | Multiplication Division
L ’d’fv ?‘,5
H 22K 2+5 25 2% 2 2+ 5
Natural
number
5 7\5*,1“
A | (212 | (- (-2) | (-2x(-2) | (-2)=(-2)
Negative
number
rs | —245 | —2—5 | —2x5 | —2+5
ek
Integer
83 0 12 1 1 1 1 1 1 1 .1
AL + - X +
e 2 4| 2 4|2 4|2 4
ational
number
A3 )
MEH | vV/2 +v2 | V2 V2 | vV2xv2 | V2 =2
Irrational
number
B0 Loz s ézv
3. %I@ G EHIFFEIZ DWW TE & D &,
Summarlze numerical ranges and arithmetic operations.
gk o [i}v »
OFFHE N H I #HPAIZ2 D,
Clrcle When the calculatlon is always 1n that range.
Lr Sh
L, BREIZBWT, 0 ’Cillé el Aj%‘ 7R,
Division does not divide by 0.
poES FAIED Lx)iE) Lrizd
hni B F® Ik 275
Addition Subtraction | Multiplication Division
Lo ¥5
EEAS
5 75),#“
HD
T )
K
95 b TS
biiil
A3 )
%W

SEICh s L x, O L,

&Aﬁ‘a LEd¥) hHob

/j’( @ %I % 7 %I < % “li' Express the following fractions in decimals.

W b
1) jE 1 RE
7T . 10
@ 1 =74 O — n
=7.75
/5
1) 7.
4
30
28
20
20
0
8 .. 10
@ 3 —§+3 @—3
=2.66
= 2.5
2.6 6
3) 7.
b
20
I s
20
/¢
2
Ly AnhLk

Ko BN ST

5.
Express the following recurring decimal r as a fraction.
FOLAN S bA TN
15l jE i A
D r= 0.6 = 0.66- - ®r= 0.5 =055
70 r= 6.6+
—)  r= 0.6
9 r==ao
b2
T 5
@ r=0.15=01515-- |@ r= 0,72 = 0.7272 -
700 r= 7575~
—)  r= 0.J5 -
99 r= 175
75 5
"= T99 T 733
® r= 0.1 6 = 0.166 ®r= 0,83 =0.833 -
70 r= 7.66
—)  r= 0.b-
9 r=17.%
- /.5 75 7
9 T 90 ‘é
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1. Yk@it%ﬁ‘ﬁﬁ J:o Calculate the following expressions. 4. Yk@ 7 %I X %ﬁ?\%{f % “li'o
PR A ES Cr5@o Cr @ Express the following decimal x as a fraction.
IIEES 1Bk 1 B 2kt nwnEn bA T
2 34+ 9 3—9 3%x9 3+9 L1 i
Natton @® x= 0.85 O x= 0.45
atural
number
‘ I e 4
é@%}z (—=6)+ (=9 | (-6)—(-9) | (-=6)x(—9) | (~6)+(-9) ~ 700 — 20
Negative
number
@ x= 0125 @ x= 0.625
s —5+6 | —5+6 | —5x6 | —5+6
B s
Integer 7000 $
o | A, L1 11 11
B 4 2 4 2 4 7 2 4 " 2 . .
Rational @ x = 0.5 @ x = 0.4
number
s 0T = 0.556%
mag V3 +V3 [VB -3 [VBxV3 |V3 B
Irrational 70 x = 5.556¢+ -+
number _) x = 0.555%+
oF  BLY5  LidE) bbb 9 x =5
2. KD ¥ % /N T R H, Express the following fractions in decimals.
v En bAED )
151l 15 HE x=—g—
© ——= 04715 o —- . .
8 8 @ x=0.29 @ x= 014
oleirisi = 0.2929-
SEATURURE N 0 N A A (00 % = 2905+
EEES NN T S -) w= 029
L G6i0G b 99 x = 29
P56
—— _ 29
,,,,,,,,, RARE. T
4 0 ‘
,,,,,,,,,, G0 ® x=0.03 ® x=0.06
1 13 = 0.0333" -
@ 90— _0:55 @ 20
e T I H 70 x=0.333+"
1005085
2i0) rirl i Lo 10 x=—3-=—1-
rioiol
71010 ;
”””””””””””””””””””””””” X = 5~
/7700 _30
o o : :
”””””””””””””””””””””””” ® x=0.53 ® x= 046
59 19 B
© 99 — 05959 © 99 70 x = 5.333---
7777777777777777777777777777777777777777777777 - x = 0.533---
,,,,,,,,, L 1 0:5:7 9 x = 4.0
91 9) 519 )
4505 _ 48 48
95l T T
RALAEE i
oo 59 75
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P b
ROBRETOSBFICETIEES L&, 0% &,
Circle the following numbers if they fit into that category.
4535 L ﬂ‘bﬁ‘,j 5 75T ’d“«\j‘,’) [ ) ?‘,5 i) ?‘,5 'I:.:T,:Y
% HARE | ADHK| % PR A | dE ES
5 O
-3 O
0.3 O
2
3 O
/5 O
/5 O
/2 ®
T — 1 O
L& Fu
/j’( D J‘ & n+ %: H J: Calculate the following formula.
» g5 FhES LxdiEd LyiE)
hni TR Fk 1A 275
Addition Subtraction | Multiplication Division
L #A ?‘,5
H 22K 3+ 7 3—1 3x7 3+ 7
Natural
number
BN ?ﬁ
A | (919 | (- (1) | (-Dx(9) | (-2)=(-9)
Negative
number
rs | —24+6 | —2—6| —2x6 | —2+6
ek
Integer
83 0 12 1 1 1 1 1 1 1 1
+ — X =
TR 5 5 1 36 |3 6 | 3 6
ational
number
A3 )
W |5 +56 | V6 V6 | VEx56 | V6 +/5
Irrational
number
B0 Loz s ézv
Y 1 PAITIE S Tt SN
Summarlze numerical ranges and arithmetic operations.
gosy  on [i}v "
OFFHRA &I #PHIZ2 D,
Clrcle When the calculatlon is always 1n that range.
Lr Sh
=L, BREICEWT, 0 ’Cillé el Aj%‘ 272N,
Division does not divide by 0.
poES FAIED Lx)iE) Lrizd
hni B F® Ik 275
Addition Subtraction | Multiplication Division
L ﬁ@?j
SIS
5 ny
A%
T )
K
95 b TS
biiil
A3 )
ok
ES

5.

&Aﬁ‘a LEd¥) hHob

/j’( @ %I % 7 %I < % “li' Express the following fractions in decimals.

e En bAED
1) jE 1 RE
9 . 11
@ , 94 O — 2
=2.25
2,25
4) 9.
£
70
£
20
20
0
7T . 11
@ 3 =7+3 @—3
=2.33
= 2.3
2.3 3
3) 7.
b
70
9
70
9
7
Ly AnhLk

Ko BN ST

Express the following recurring decimal r as a fraction.

PR A bW
151 E 19 Rg
@®r= 0.7 =0777--- |@® r= 0.5 = 0.555
10 = 7.7+
- r= 0.7 -
9 r=17
N
2
@ r= 0,45 =04545-- |@ r= 0.2 5 = 0.2525- -
700 = 4545«
—)  r= 045~
99 r— 45
s s
"= "9 T 77
@ r= 0.48 =0488 -+ [@ r= 0.3 2 = 0.322- -
10 r= 4.8
—)  r= 0.4
9 r= 4.4
L 4y 22
=79 T o0 T 45
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1.

P b
ROBRETOSBFICETIEES L&, 0% &,
Circle the following numbers if they fit into that category.
4535 L ’d‘hf’) 5 7ﬁT ﬂ“«‘j‘,’) [ ) ?‘,5 i) ?‘,5 'I:I:T,:Y
% HARE | ADHK| % PR A | dE ES
0 O
1 O
— 0.3 O
1
— O
3
5 O
-9 O
2 r O
72 O
L& Fu Hﬁ
/j’( D J‘ & n+ =R H J: Calculate the following formula.
» g5 FhES LxdiEd LyiE)
hni TR Fk 1A 275
Addition Subtraction | Multiplication Division
L )d'}v '\3‘/5
H 22K 3+9 3—9 3x9 3+ 9
Natural
number
5 7\5*,1“
A | (D8 | (D (=8) | (-)x(=8) | (-1)=(-8)
Negative
number
. 5+(—3) 5—(—3) (-3 5= (—3)
ek
Integer
83 0 12 1 1 1 1 1 1 1 1
A + - X -
. 3 2 3 2 3 2 3 2
Rational
number
v ?‘,5
i 1 K rn+(—n)|n—(C=xn)|x X(Cn)|lx~(xn)
Irrational
number
B0 Loz s ézv
Y 1 PAITIE S Tt SN
Summarlze numerical ranges and arithmetic operations.
gk o [i}v ©
OFFHE N H I #HPAIZ2 D,
Clrcle When the calculatlon is always 1n that range.
Lr Sh
L, BREIZBWT, 0 ’Cillé Sl s 3’% 7R,
Division does not divide by 0.
poES FAIED Lx)iE) Lrizd
hni B F® Ik 275
Addition Subtraction | Multiplication Division
Lo ¥5
EEAS
5 75),#“
HD
AN ]
K
95 b TS
biiil
A3 )

5.

&Aﬁ‘a LEd¥) hHob

/j’( @ %I % 7 %I < % “li' Express the following fractions in decimals.

nwn

bAED

15 jH R
23 . 17
@ = —=23+5 O — 5
=4.6
4.6
5) 2 3.
20
30
30
0
23 17
@ o —=23+6 @ o
=3.£3"
= 3.0 3
3.8 3
6) 2 3.
/s
50
4 ¢
20
/s
2

CwhinrhlLrddd

Ko BN ST

Express the following recurring decimal r as a fraction.
nw e bA TN
i k!

@ r= 0.3 = 0.33 -

70 r= 3.33--"

@D r= 0.4 =044---

—) r= 0.33+--
9 r=3
3 _ I
7 8
@ r=0.18=0.1818- |@ r= 0.1 9 = 0.1919- -
700 r= 7878
—) r= 0.8 -
99 r— /¢
18 2
TT e T
@ r=0.23 =023 [@r=0.36 =0.366--
70 r= 2.33---
—) r= 0.03--
9 r= 2.7
Ll 2 7
=79 T 790 T 30




